e,

3(x+d)

~ X
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Determine the limit by substitution
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Determine the limit by substitution and support graphically.
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Use properties of limits to determine each limit
Assumethatlimi f(x)=10 and li[r} g(x)=5

A)  lim(f(x)+3)= B) Tim(xg(x))

" f(x)
x> g(x)+2
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CALCULUS: 6Graphical, Numerical, Algebraic by Finney, Demana, Watts and Kennedy
Chapter 2: Limits and Continuity 2.2: Limits Involving Infinity pg. 70-77

What you'll Learn About
+  Finite Limits as x approaches positive or negative infinity
s+  End Behavior Models
+ [Infinite Limits as x approaches a value
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